Worksheet: Writing and Balancing Chemical Reactions

1. Balance the following equations and indicate the type of reaction as formation, decompeosition, single
replacement, double replacement, hydrocarbon combustion, or other.

A Cug+ | Oy A CuOy

&.

b, L HOp—>_d Hp+ 1 Oy

z. 3 Fem+ H HOp—> 4 Hygyt b FesOugn

d. Q. AsCls (ag) + 3 HQS(mg ‘ A‘QSS(N 1 Q HC fags
e. 1 CuSCseSH0u > | CuSO4+ g HaO g

£ 1 FeOip+ 3 Hyp—_ ZFen+ _JH:00

2. __j__“_{?aCOg T4 ‘ C&O(5)+ | CC’: ()

b. Mg__m Fem 1 Sg - ? FeS (s}

L] HS@gt & KOH ap = & HOg+ 1 KaSuy

jo @ NaClyp—_ 3 Nag+ 1 Chy

ke 2o Alg+_ 3 HiSOspp = 53 Hyg- 10{504)3 (ag)
Lol HPOsep+ 3 NHOHey > 3 Hzo @+ 1 (NHR)3POs g

m. | GHyg+ 5 Oz 3 COrg+ 4 _ H:z‘O ®

B _4 Alg+_ 3 Oyg—_ gk AbOsgy

0. 1 CHig+ & Oogy—> | COry+ & HiOg

| BaClygy —> A KClag+ | BaSCyq

CHugp+_¥ Oig— 85 COxgt+ b HiOgy

Ca(OH) g+ 2. NHaClag —> gl NHaOHapy + _|_ CaCly
VaOsy+ 3 Cap—> 5 Calp+ 1 Vi

_&_ Na.(,,.-) + _.‘_...._ Znl, (ag) "3’.__3_“ Nal_mq} + § Zn G

_ J_ CrHeO ay 7 Gy (g) —> ﬂ CGan eyt _ 3 HO o)

v. A Cag+t_ L Nog—= U CasNyy ‘

W, \ FexOs+ 3 Hag—>_Qd Few+ 3 MOy

e Cistlaop + 48 Org—+ 15 COrgp+ 15 HiOy or ok ~
2 _9:. BN (o + ﬁ 29> L BFagt { Nag

z _d Ciobsg+ 3] O — A4 COrn+ Ao HaO gy

2. Predict the product(s) along with the states, indicate the type of reaction, and balance the following
chemical reactions.

b
A
4

45 - 30 - 30

A solution of lead (IT) nitrate is mixed with a solution of sodium iodide.

Solid zine sulfide reacts with oxygen in the air.

Liquid butane (Calio () is used as a fuel to ignite a lighter.

Barium hydroxide solution is neutralized by adding hydrochloric acid (HCI ).
Coppermetal is placed in a solution of sitver nitrate.

Sulfur buras in oxygen to make sulfur dioxide gas.

A solution of aluminum sulfate is mixed with a solution of calcium hydroxlde
Zinc metal is placed in sulfuric acid (HzSOu4 ay).

Aluminum powder is placed in a container filled with chlorine gas.

Sucrose undergoes cellular respiration.
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